CET-4 Listening   

大学英语四级听力专题材料 

突破地点、方向类短对话 

1. M: How long can I keep these out？ 

W: Two weeks. Then you will be fined for each day they are overdue. 

Q: Where does this conversation probably take place? 

答案为：B本组对话的关键词是 keep out“保留，保存”；fine“罚款”；overdue“过期”。一般情

况下这些词发生逻辑联系的场合应当是在图书馆，借书过期要罚款，在书店、旅行社和医院这三

者之间一般不会有直接相关性。  

2W: Could you have my car ready at half past four，please? 

M: All right，the damage is not great. 

Q: Where did this conversation probably take place? 

答案为： C 本组对话的关键词是 car；ready；damage“损坏”。显然，在维修站这些词最有可能

发生逻辑联系，“四点半能修好车吗？”“可以，损坏不算严重。”也可以说，damage和 service 在

此具有极强的相关性。  

3M: I’d appreciate it if you would send a copy of my transcript to State University as soon as possible. 

W: All right，Dr. Smith. But I must charge you 4 dollars as our usual fee. 

Q: Where did this conversation probably take place? 

答案为：D本题解答的关键信息是 send a copy of my transcript to State University，指送一个抄本备

份给州立大学，它与学校的关系更为密切；另一方面对话中虽然谈到了收费问题，但是结合上一

个关键信息就应当排除饭店、电影院和宾馆等活动场所的可能性。  

4.M: Miss, I’m checking out, how much shall I pay? 

W: Let me see, a single room with a bath…, oh, it’s 8 dollars, please. 

Q: Where does the conversation most probably take place? 

答案为： D解答本题的关键词是 checking out (结帐离馆)和 a single room (单间)。从这两个词组可

以推测对话是发生在旅馆中的服务员与顾客之间。 

5W: Why don’t we just go in and see the exhibit now since we don’t have class this afternoon? 

M: Good idea, Crag Thomason is one of my favorite painters. 

Q: Where does this conversation probably take place? 

答案为： C根据 exhibit（展览）和 painter（画家）可知这是一个有关绘画方面的展览，从而可解。

注意 A项和 D项都是干扰项。 

6.W: I’m going to the museum Sunday afternoon. There is a new exhibition of Indian art from Arizona 

and New Mexico. Will you go with me? 

M: I’d love to，but my best friend is getting married on Sunday and I wouldn’t miss it for anything. 

Q: Where is the man going on Sunday afternoon? 

答案为： B本题的关键信息是 my best friend is getting married；I wouldn’t miss it。  去参加婚礼是

合乎逻辑的选择。其中，主要干扰信息是 going to the museum，但是从 I’d love to，but 这种常见

的表示让步的表达就可排除干扰项，确定重要信息所在。  

7M: Excuse me. I’m looking for the textbooks for Prof. Peterson’s course. 

W: I’m afraid they’re out of stock now. You’ll have to order them，and it will take three weeks for the 

publisher to mail them to us. 
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Q: Where did this conversation probably take place? 

答案为： D本组对话的关键词是 textbooks for Prof. Peterson’s course；out of stock；order。比德森

教授的课程用书没有库存，须定购。根据一般知识，买大学里的固定课程的教材应该在学校书店

里。  

8W:  I’m sorry，sir. You’ll have to come with us. Mirrors and hidden cameras have detected what you 

have done. Leave the merchandise here. 

M: I’ll come along，but I assure you that I can prove my innocence. 

Q: Where did this conversation most likely take place? 

答案为： B本组对话中，You’ll have to come with us；mirrors and hidden cameras；merchandise；

innocence 提供了关键信息。从内容上看，男士有偷窃商店货物的嫌疑，从时间上看，他将被带走

问话，商店是事发地点。由此可排除干扰项 in a police station。  

9M: Are you glad that you came to Washington? 

W: Yes，indeed. I’d considered going to New York or Boston，but I’ve never regretted my decision. 

Q: Where is the woman probably living? 

答案为： B 本题的关键信息是 came to Washington，女士很高兴来到华盛顿。干扰信息是 I’d 

considered going to New York or Boston，排除干扰的关键是对时态的把握，曾打算去纽约或波士顿，

也就表明事实上并没有成行。  

10W: Oh，my God! It’s already half past five and I haven’t finished typing these business letters. 

M: Your watch must be half an hour fast. It’s five o’clock now，and you still have one good hour to do 

them. 

Q: Where does the conversation probably take place? 

答案为： B本组对话的关键词是 typing; business letters。打出商业信函最有可能是秘书的工作，

正确答案是在办公室。  

11M: How awful does that violin sound? 

W: Yes, I’ve not been to a worse performance; I wish we could get a refund. 

Q: Where does the conversation most probably take place? 

答案为： A 从女士说的“我没听过比这更坏的演奏”来看，他们是在听一场小提琴音乐会。请注

意：refund 是“退款”的意思。 

12M: Hello, Amy. This is Peter David here. Could I speak to Tom please? 

W: I’m afraid he’s not in at the moment. I’ll ask him to call back when he’s back. 

Q: What are they doing according to the conversation? 

答案为： D该题测试对常见情景对话的熟悉程度。除了根据对话中的惯用句型外，还可以根据一

些信息词，如“call back（再打电话）”来帮助理解对话。 

13M: Excuse me. I’d like to place an advertisement for a used car in the Sunday edition of your paper. 

W: OK. But you have to run your advertisement all week. We can’t call the rates for just Sunday. 

Q: Where is the conversation most probably taking place? 

答案为：D本组对话中的特色词是 place an advertisement，Sunday edition, paper（报纸）。虽然，

讨论中提到 a used car，但从对话可以得出男士是想在报纸上登出有关二手车买卖的广告，干扰项

可以排除。 

14W: Excuse me，please! Where’s the school? 

M: Which one？The Infants School is over there. The Boys School is on the right. The Girls School is 

straight ahead on this street. 

Q: Where is the Boys School? 

答案为： B本组对话中，主要信息明确直接，但是同时存在两组干扰信息，解题过程中记录和确
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定正确的对应信息是关键所在。问题的核心是 the Boys School，相应的正确答案是：on the right。   

15M: Can I pay for this jacket with my credit card? 

W: I’m sorry，sir，we can’t process cards. You’ve got to pay it in cash. 

Q: Where does this conversation probably take place? 

答案为： B本组对话的关键词是 jacket，credit card，cash。如单考虑付款对话，对话可能发生在

杂货店或商场里；但根据常识，杂货店里一般不卖夹克，干扰项可以排除。  

16W:Can I borrow this magazine, please? 

M: Sorry, this is the newest issue. You can only borrow the older ones. 

Q: Where did this conversation most probably take place? 

答案为：C本题可直接根据相关提示词做出判断。由 borrow magazine和 newest issue,可判断出答

案：在图书馆里。 

17W: May I make a recommendation, sir? The chicken with our special sauce is very delicious. 

M: Thank you, but I’d like to have some beef. 

Q: Where does this conversation probably take place? 

答案为： C 从相关信息词 chicken、 special sauce、 beef，以及 recommendation （推荐，介绍）和 delicious

可知此对话是关于吃饭的，由此可知发生在饭店。 

18W: I need some souvenir stamps and I’d like to send this package to Los Angles. 

M: Here are your stamps, and it takes nine dollars and fifty-five cents for the package. 

Q: Where does this conversation most probably take place? 

答案为：C 从关键词 stamps 和 package可知是与邮寄物品有关，所以对话发生的地点应该是邮局。  

19M: Please hold the line, Mrs. Black. The doctor will talk to you in a minute. 

W: I’m afraid I may have to hang up. I don’t have any more coins and the line will be cut soon. 

Q: Where is Mrs. Black most probably? 

答案为：C 在对话中女士回答：“我恐怕要挂断电话了。我没有硬币了，电话线很快就要被切断。”

这说明该女士正在电话亭里使用投币付费电话。coin 这个信息词可以帮助你选出正确答案。 

20W: Excuse me，I want some dictionaries，please. Where can I find them? 

M: The regular-priced ones are here，and on that table we have some more on sale. 

Q: Where does the conversation probably take place? 

答案为：B. regular-priced dictionaries和 on sale 表明这是在书店，并非在图书馆里。  

21M: How is your mother feeling these days? 

W: Much better, thanks. She should be coming home in a few days. The operation was a success and the 

doctors say she’ll recover in no time. 

Q: Where is her mother now? 

答案为：D从女士的回答中，我们可以捕捉到“operation”,“doctors”,“recover”这些关键词，

从而得出女士的母亲生病了。“She should be coming home in a few days”这句话帮助我们进一步了

解到她的母亲正在住院治疗，过几天就会出院回家。因此 D项是正确答案。22W: What’s keeping 

you，Tony？  Dinner is ready. 

M: I’ll drive over right away. I was helping my colleague move into his new office or I would have 

already been back. 

Q: Where does the conversation most probably take place? 

答案为： C从对话听出，女的在家准备晚饭，男的说马上就回家并解释了为什么回家晚了。很明

显两个人不在一起，但两个人在说话。所以只能是在通电话。  

23W: George, look at the long waiting line. I’m glad you’ve made a reservation. 

M: More and more people enjoy eating out now. Besides, this place is especially popular with overseas 
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students. 

Q: Where does this conversation most probably take place? 

答案为：D对话中的关键词“make a reservation”，意为“做好预定安排”，可以指旅馆房间、饭

店、飞机的预定。此外，通过对话中的特色词“eating out （去饭馆吃饭）”也可以很容易找到正

确答案。 

24W: These tomatoes are huge! You must have watered them a lot! 

M: Yes，I did. They ought to be ripe enough to pick by next Friday when we have our picnic. 

Q: Where did the conversation most probably take place? 

答案为： C 由 tomatoes，water 和 ripe 可知，西红柿是自己种的，还没到成熟的时候。所以应该

是在菜园里。选项 B 中的orchard 意为“果园”，种植的一般为果树，如：an apple orchard(苹果园)。   

25M: Where are you going，Miss Black? The chairman should be here any minute. 

W:I won’t be far. Look there!  “Ladies and Gentlemen”. 

Q: Where is Miss Black going? 

答案为： D一提到 Ladies and Gentlemen，考生往往会最先想到这是在开会，因此毫不犹豫地选

择 A 项；但请注意上下文提示词 Look。这个词很关键，说明此处有明显的问话人和答话者都能

看见的标识，根据自己的生活常识，可判定该处指的是“洗手间”。  

26W: Dear，I feel hungry now. How about you? 

M: So do I. Let me call room service. Hello，room service，please send a menu to 320 right away. 

Q: Where are the two speakers? 

答案为： C. hungry和 menu 很容易诱使人选择“在餐厅”或“在吃饭”等选项；而本对话中 room 

service（客房服务部）却暗示对话者在 hotel（宾馆）里。  

27M: Where did John come from? 

W: He was born in Switzerland and grew up in Sweden，but now he’s a citizen of England. 

Q: What country does John presently call his home? 

答案为： B以下几题中出现了多处地点交叉现象。由于问题只针对某一个地点，所以适当简单地

作些笔记是很必要的。以本题为例，可以用单词的首字母在选项旁给自己以提示：  

A. America.   

B. England. c(=citizen) 

C. Switzerland. b（=was born） 

D. Sweden. g(=grew up) 

要答对这道题还有一点很关键：听懂问题。题目中的 presently（现在）和答话人话中的 now是同

义词。  

28M: What’s all that noise? It sounds as if it’s coming from next door. The Nelsons aren’t back yet, are 

they? 

W: I don’t think so. It must be the window-cleaners working upstairs. 

Q: Where does the woman think the noise is coming from? 

答案为：B  在这个对话中出现了三个方位：next door, upstairs, the Nelson’s house, 其中两个是作

为干扰项设置的。该题主要考查考生对录音内容中细节的掌握，因此不要听到了某个方位词就匆

忙做出选择。  

29W: I only want to get a can of cola to take back to my dormitory. 

M: You don’t need to wait in the food line for that. There is an auto vending machine over there. 

Q: Where does this conversation most probably take place? 

答案为：A 该题为综合推断题。根据第一个讲话人所提到的要买一罐可乐带回宿舍，及第二个讲

话人提到的 food line 和 vending machine（自动售货机），可将干扰选项排除，从而确定答案。 
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30W: Where did you say you found this bag? 

M: It was lying under a big tree between the park and the apartment building. 

Q: Where did the man find the bag? 

答案为：A三个地点的方位关系要弄清楚：大树在公园和公寓楼之间，而包是在大树底下找到的。  

数字、时间类短对话 

1W: We’ve been hard at work for a fortnight. So why don’t we take it easy this evening? 

M: How about seeing a play？I hear  “Hamlet”is on at the National Theatre. 

Q: How long have they been working? 

答案为： C 本组对话中的关键词是 fortnight，意思是“两星期”。女士说已经辛苦了两周了，今

晚该轻松一下了。男士提议去看戏。  

2M: Is this the check-in counter for flight 914 to Los Angeles? 

W: Yes. But I’m sorry the flight is delayed because of a minor mechanical problem. Please wait for 

further notice. 

Q: What do we learn from this conversation? 

答案为: D   对话中的 check-in counter  是指办理登机手续的柜台。对话中男士询问这里是否是办

理 914 航班登机手续的柜台，女士的回答是肯定的，同时又说明了班机延误的原因以及登机时间

尚未明确（即需要等待进一步通知）。由此可以看出，正确答案为 D，解答关键是理解对话的主要

内容，而不是停留在某一细节上。 

3W: Excuse me. Do you know when the plane from San Francisco will arrive? 

M: The plane was due at 8∶15, but it has been delayed half an hour. 

Q: What can we infer from the conversation? 

答案为：D该题考查考生综合推断的能力。首先，“be due”在这里的意思是“应到达的，预期的”。

然后，从对话中可以得知飞机本应 8∶15 到，但实际上晚点半小时到达，因此飞机实际到达的时

间是 8∶45。  

4M: How much will I have to spend renting an apartment in New York？I’ll be paid 400 a month. 

W: Your rent should be about a quarter of that if you share with somebody. 

Q: How much should the man’s rent be? 

答案为： A 本组对话的关键信息是 rent；400；a quarter of that。男士要在纽约租公寓，他只有每

月四百美元的收入；女士告诉他如果跟别人合租的话，租金应当是那个数目的四分之一，所以男

士应付租金是一百美元。 

5W: I’d like to trade this curtain that I bought yesterday for the bedcover，please. 

M: Let’s see now. The bedcover is only 10.30 and the curtain is 11.60. 

Q: How much money does the clerk owe the woman? 

答案为： D本组对话的关键是 curtain  和bedcover  之间的价差。trade  是“交换”的意思，即“以

物易物”。听题过程中只要做到对号入座，再进行简单的减法运算就能判断正确答案： 

11.60-10.30 =1.30   

6M: Is this the vacuum cleaner you recommended? 

W: Yes，it’s our regular 600 vacuum cleaner on sale today for 550. If you buy a pair，you can save 

another 50 for each. 

Q:How much will the man pay if he buys two vacuum cleaners? 

答案为： C 根据对话可知，吸尘器原价每个 600，廉价销售每个 550，如果买两个还可以每个再

便宜 50，所以如果他买两个，只需付 1000。 

7M: How much are these books? 

W: Oh, let me see…the used book is 50% discount off its original price and that would be four dollars 

and forty-five cents. The novel is six dollars, the dictionary fifteen dollars. 

Q: How much is the used book? 

答案为：B 该题属于细节辨认题。对话中出现的价格（数字）较多，要求考生首先理清这些数字

所对应的对象，然后根据对话后面给出的问题从众多数字信息中筛选出正确答案。 

8M: When does the next shuttle bus leave？ 

W: You have just missed one by 15 minutes. We have a bus every 50 minutes，so you’ll have to wait for 

a while. 

Q: How long does the man have to wait to get on the next bus? 

答案为： B本组对话的关键信息是 missed one；by 15 minutes；every 50 minutes。接送车每五十

分钟开出一辆，但前一辆是在 15 分钟前开出的，略一计算就可知下一辆在应 35 分钟之后。  注意

辨别 fifteen  和 fifty  在发音和意义上的区别。 

9M: How many students are there in your class? 

W: There are originally 35 students in my class. But several students are absent today and there are only 

14 boys and 15 girls. 

Q: What can we learn from the conversation? 

答案为：C 本组对话的关键是听清今天上课的男生（14 人）与女生（15人）的人数。原文中提到

了全班人数（35 人），但是在第二句中表明部分学生缺席。所以，D项是干扰项。 

10M: These airmail envelopes cost 50 cents a dozen. 

W: A couple of dozen should certainly do. 

Q: How many envelopes will the man and woman buy? 

答案为： B本组对话中的关键信息是 a couple of dozen；do。“两打就够了”，所以正确答案是：

他们要买 24 个信封。尽管男士提到了每打信封的价格，但是问题并没有问及这一点。  

11W: I wonder if you can finish your paper by Monday evening. 

M: I’m sorry，Dr. Snow. I don’t think I can finish it that early. I need at least three days more before you 

could have it. 

Q: When will the man hand in his paper? 

答案为：  D本组对话要注意捕捉以下信息，要求时间、实际能完成时间，即 Monday evening， three 

days more，星期一再加三天就是星期四。选项 C. Thursday morning 具有迷惑性，其实这个时间离

星期一不到三天。  

12M: Hurry up! The meeting will start in twenty minutes. 

W: It’s only a quarter to eight. Haven’t we been informed that the meeting will be postponed half an 

hour later than schedule？ 

Q: When was the meeting scheduled for? 

答案为： A 本组对话中的关键词是 start in twenty minutes，a quarter to eight，原定计划二十分之

后开会，现在是八点差一刻，那么原定开会时间是八点零五分。half an hour  是干扰项，与问题无

关。 

13M: Did Adam get on his train yesterday? 

W: No, he missed it. He left at 6 o’clock but didn’t get to the railway station until 7 o’clock and missed 

his train by 15 minutes because of the traffic jam. 

Q: What do we learn from the conversation? 

答案为：B 该题为细节判断题，需要从众多类似信息（多个表示时间的词）中听清内容，才能选
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出正确答案。从对话原文可以得知，Adam七点钟才到达火车站，由于交通堵塞被耽搁了 15 分钟，

而没有赶上火车。所以，火车在 6∶45 发车。 

14M: I was in the gas station at 1∶00. How did I miss you? 

W: I got there at a quarter to 12∶00 and waited a while. But I guess I left before you got there. 

Q: When did the woman probably leave the gas station? 

答案为： A 女士 11∶45 到加油站，男士 1∶00 到加油站，而两人没有碰面，显然女士应当是在

11∶45 之后 1∶00 之前离开的，符合要求的选项只有一个。 

15W: Mrs. White is very experienced as an English teacher, isn’t she? 

M: Definitely, she is fifty-three years old this year and she has been teaching English since she 

graduated from university when she was twenty-three. 

Q: What can we learn about Mrs. White? 

答案为：C 该题要求考生从相类似信息中分辨出这些由数字表述的不同时间（即年龄）所对应的

具体内容。Mrs. White 今年 53 岁，23 岁大学毕业时开始教书，由此可以推断出她具有三十年的

教书经验。 

16M: I wonder if Suzy will be here by 5 o’clock. 

W: Her husband said she left home at 4∶30; she should be here at 5∶10, maybe 5∶15 at the latest. 

Q: What time did Suzy leave from home?   

答案为: C 解答关键是从对话的众多信息中捕捉到所需要的信息，即“she left home at 4∶30”。 17W: 

Here’s a 20-dollar bill，I want two tickets for the show tonight，please. 

M: Sure. Your tickets and here’s 2.40 change. 

Q: What’s the price of a ticket? 

答案为： D 20 买两张票，找零 2.40，说明花去 17.60。问的是单价，所以选 D项。听本组对话时，

要集中精力判别各个数字所代表的意义，并及时地做出记号以表明各个数字之间的关系。如：20p 

(pay 20.00)，2t (buy 2 tickets)，选项 A后标 c (change)。  

18M: Your daughter seems to have made great progress in playing the violin. Does she take any lessons 

in violin? 

W: Yes，she takes them twice a week，but from next week on，she will have another class on Friday 

evening as well. 

Q: How often will the woman’s daughter have violin lessons from next week on? 

答案为：  C回答此题时要把女士的谈话内容全部听完，千万不要一听到 twice a week 就立刻作答。

twice a week  是圈套，后面一句告诉我们从下周开始她女儿还要在星期五晚上另加一节课，所以

每周上课是三次。 

19W: Our old school will be celebrating her hundredth anniversary next Friday. Shall we go back for a 

visit? 

M: Why not？It’s been two decades since we left. 

Q: How long ago did they graduate from the school? 

答案为： B本题主要考查对英语集体数量词的熟悉情况，一个 decade为十年，两个就是二十年。

提示ּ英语中有些数量词在汉语中不常用，需特别留心，如：dozen(十二); score（二十）; quarter(四
分之一)；decade(十年)；century（世纪）等。 

20M: These chairs are on sale for thirty-five dollars, or sixty dollars for a pair. 

W: In that case, I’d like to have two pairs of them. 

Q: What can we infer from the conversation? 

答案为：A 该题的解题要点是听明白椅子的售价，一把椅子售价为 35 美元，两把椅子（a pair）

的售价为 60 美元。女士购买四把椅子（two pairs），应该付 120 美元。 
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21W: How many students do you have in this college? 

M: Well，we have 2,000 altogether. A quarter of them are local and the rest are from other parts of the 

country. 

Q: How many students are not local? 

答案为： C本题的关键信息是 2000，quarter  和the rest。但后两个数字并未直接给出，而是通过

文字表达出来的。考生只要熟悉 quarter  和 rest 的意思，计算并不复杂。 

22M: What’s the time for departure? 

W: 11∶45.That leaves us only 15 minutes to go through the customs and have our luggage checked. 

Q: At what time did the conversation take place? 

答案为： D 本题主要考查考生的快速反应能力。到起飞前只有 15 分钟过海关、检查行李，而飞

机 11∶45 起飞，也就是说现在是 11∶30。 

23M: The rent for this house is just three hundred and sixty dollars a month. It’s not much. And you only 

need to pay it monthly. 

W: I think different. I would only have half of my salary left by the time I pay it. 

Q: What do we know about the woman according to the conversation? 

答案为：B 从两人对话可知双方正在讨论房租的价格，并可知这一房租会占到该女士收入的一半，

从而得解。 

24M: I’ve made ten copies. 

W: You needn’t have made so many. Two would have been enough. 

Q: How many unnecessary copies has the man made? 

答案为：B 考生听到两个数字，通过对女士话中虚拟语气的领会，使用减法很容易就可以得出正

确答案。 

25W: What is the population of this new village? 

M: Well，we started the migrant project five years ago with only two score of settlers，and now we have 

a population fivefold. 

Q: How many people reside in the new village？ 

答案为： D本题的重要信息为 two score of; five times。新村的移民五年前为 40 人，现在翻了 5

倍，应该是 200 人。 

26M: The suits are so expensive in Wal-Mart. They cost 1，200 Yuan each. 

W: Let’s go to a Chinese store. Most of the items there are 20% cheaper. 

Q: How much will they pay for a suit in the Chinese store? 

答案为： C本题的重要信息为 1200 Yuan，20%。1200的 20%是 240。所以在中国店他们只需付

960 元就可买到一套西装，也就是不到一千元。 

27W: Where is John? It’s almost 8 o’clock and the class will begin. 

M: He’s always 10 minutes late, today is no exception. 

Q: What does the man mean? 

答案为：D 此题为综合推断题。从对话的语气和内容可知 8 点钟开始上课，而 John 总是迟到 10

分钟，今天也不会例外。所以，John 会像通常那样在 8∶10 到达课堂。 

28M: Excuse me，could you please tell me how to get to the University Post Office? 

W: Sure. Go straight for two blocks，then turn right and walk three more blocks until you get to the drug 

store. It’s right across the street. 

Q: How far must the man walk to get to the post office? 

答案为： D本组对话中的关键信息是先直走 two blocks，右转后再走 three more blocks。所以总共

需要走过五个街区。 
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29W: I wonder if the library is open on Saturday. I need some reference books for this week’s written 

work. 

M: Look! There’s a sign on the door. It reads:   

Weekdays 8∶00—21∶00 

Saturdays 9∶00—17∶00  

Sundays closed. 

Q: When will the library be open on Saturday? 

答案为：  A本对话要求学生对不同计时方式进行快速反应。星期六的开馆时间为 9∶00—17∶00，

也就是上午九点至下午五点，符合这个条件的只有 9∶00 a.m. to 5∶00 p.m. 

30M: Do you think it’s usually this cold at this time of the year? 

W: Not really. A cold current swept North China yesterday and the temperature has dropped  14 

degrees overnight. 

Q:What’s the temperature today? 

答案为： C本题中女士只讲了温度下降了十四度，这是跟昨天的温度相比，并没有提到今天的实

际温度。如果用 dropped to  就表示下降到多少度。 

掌握人物、身份类短对话 

1W: The toilet water goes all over the ground. There must be something wrong with the sewage tank. 

M: Shall we call Mr. Smith in? 

Q: Who is Mr. Smith? 

答案为：D 本组对话中的关键词是 sewage tank（下水槽）。对话中，男士所说的话的完整形式应

为：   Shall we call Mr. Smith in to fix it? (我们是不是叫史密斯先生来修一修这个下水槽?)  所以史密

斯先生是修下水道的管子工。 

2M: What can I do for you, lady? 

W: Yes, do you have a white evening dress on sale? 

Q:What is the most probable relationship between the two speakers? 

答案为：D本题为人物关系题。题中男士用的是服务员对顾客的招呼语：“我能为您效劳吗？”从

女士的问话：“你这有白色晚礼服出售吗?”可以确定，女士想买礼服，是商店顾客，男士则是商

店售货员，所以选 D项。 

3M: I got such a bad start in the last race. It was hard to catch up. I tired myself out by trying too hard. 

All I could see was the backs of the others’ heads. 

W: We’ll work on your start. The most important thing is concentration. 

Q:What is the probable relationship between the two speakers? 

答案为： D本组对话的关键信息是 a bad start；race；work on；concentration。男士说比赛的开头

就很糟糕，女士说“我们将研究你的起跑，集中精力最为重要”，显然这是运动员和教练之间的对

话。 

4W: What do you think are the chances of proving my case? 

M: I believe they are in our favor， and I think we 　 re going to ask for a reparation for damages as well. 

Q: What is the probable relationship between the two speakers? 

答案为： B本组对话中的关键词有 case；to ask for a reparation。案件、索赔都与法律事务有关，

所以两者之间最有可能的关系是委托人和律师。 

5W: John, what are you doing on your computer? Don’t you remember your promise? 

M: This is not a game; it’s only a crossword puzzle that helps increase my vocabulary.   
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Q: What is the probable relationship between the speakers? 

答案为：D 选项很简短，一看便知可能考查人物之间关系。应注意不同身份的人的语言。根据对

话中 Don’t you remember your promise?这个反问疑问句以及 game, crossword puzzle（纵横字谜）

等信息词可以排除 A项和C项。进一步分析，可以推出对话中母亲误认为儿子在玩computer game,

而儿子解释说他只是通过 crossword puzzle 来扩大单词量。 

6W: I need two IDs and your account number before I can cash your check，sir. 

M: Certainly，Madam. Here’s my passport and driver’s license. And my account number is on this card. 

Q: Who is the woman likely to be？ 

答案为： A 女士说兑换支票需要两个身份证和账号，从 account number; cash your check 可判断

出对话发生在银行，由此又可知道银行里兑换支票的只能是出纳员。 

7M: Hello, this is John Godwin at 803-4457.Could you tell me when the latest flight for New York was? 

W: Half an hour ago. 

Q: What is the possible relationship between the two? 

答案为：C 通过男士的口吻和 flight for New York 说明对方是机场工作人员；男士打电话询问最近

去纽约的班机时间。只要听懂其中的几个关键词就很容易找到正确答案。 

8W: Did you hear that noise last night，Mr. Collins？It woke me up at least three times. 

M: I’m terribly sorry， Mrs. Black. My little boy kept dropping the ball he was playing with and we had a 

hard time putting him to bed.   

Q: Who might the woman be？ 

答案为：  A 从两人用了 Mr.和 Mrs.来看， 对话双方都比较客气；女士的语气中有明显抱怨的情绪，

说明二人关系不是非常亲密。然后再弄清楚抱怨的原因是孩子玩球掉在了地上打扰了女士睡觉。

结合二者来看，他们只能是一般邻居。 

9W: It hurts here on the bottom, especially when I eat something hot or cold. 

M: Open wide, please. Now, Mrs. Brown, show me where it hurts. 

Q: Who is Mrs. Brown? 

答案为：B 该题的关键信息为第一个讲话人说吃冷、热食物时感到疼，此时对“bottom”一词还

不能完全确定具体所指；从第二个讲话人所说的“open wide” ，结合前边听到的信息通过综合判

断，可知 Mrs. Brown 在检查牙齿，从而可知 B 项为正确答案。 

10W: What kind of work would you like to do if you have the freedom of choice? 

M: If I were to change my life and work，I would probably make a dramatic change. I would quit the 

city and move to the country，probably be more involved with nature and with animals. 

Q:Which of the following would the man choose to be? 

答案为： C本组对话的关键信息有 quit the city；move to the country；involved with nature and with 

animals。由此可以判断他的愿望是到农村。而有关农村的选项只有一个。 

注意区分 dramatic(戏剧性的)和 dramatist(剧作家)。 

11M: If you can make up your mind about the colors，I can start on the outside of your house by early 

next week. 

W: Well，right now I think I want white for the window frames and yellow for the wall，but I’ll let you 

know tomorrow for sure. 

Q: Who is the woman talking to? 

答案为： B本题的关键信息是 colors；your house；window frames；wall。从这些信息可判断男士

要为女士刷房子，符合逻辑的选项只能是油漆工。 

12W: Gary, please go to the door. I hear the bell. 

M: It’s the mailman. Here’s a postcard from Uncle George. He’s coming to visit us! 
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Q: What is the probable relationship between the speakers? 

答案为：A第一个讲话人要 Gary去开门，而 Gary讲到 Uncle George的明信片以及他要来看我们

（He’s coming to visit us），可得出正确答案——两人为母子关系。 

13W: What does your sister Linda do now? 

M: Well, she works as a nurse, but she would rather teach. 

Q: What does the man mean about Linda? 

答案为：B 注意第二个讲话人所用的句型“would rather”，其实讲话人同时表达了两层意思：先说

明了 Linda 现在正在做的工作是护士，但要表达的更重要的意思是她更愿意（would rather）教课，

也就是当老师。由此可见，我们在听题的时候，不但要听到对话人所讲的内容，更要注意其讲话

的语气，并通过特殊句型和表达方法来帮助理解讲话人要表述的真实意思。  

14W: Good afternoon. I made an appointment for a perm at four. 

M: Yes. Please sit down. We have quite a variety for you to choose: regular, cold perm, straight perm, 

and foam. What kind of permanent would you like to have? 

Q: Who is the man? 

答案为：D解答该题的要点是 perm(烫发)这个关键词。regular, cold perm, straight perm, and foam

分别指一般烫发、冷烫、平板烫及泡沫烫。在介绍完这些烫发类型后，美发师问顾客想烫哪一种

发型。其中，permanent  又作 permanent wave,  在口语中是烫发的意思。 

15M: Can you speed up a little？I’ll be late for my flight. 

W: Take it easy. I’m taking a short cut. We’ll make it on time. 

Q: What is the woman? 

答案为： C男士请求女士再快一些，否则会误机。女士说她正在抄小路，会按时到达的。结合选

项提供的信息可以确定女士最有可能是出租车司机。 

16W: What was that number again? 

M: I was trying to reach 3426-5179, it seemed I dialed the wrong number. 

Q: Who is the woman speaking to? 

答案为： A此题要求考生熟悉日常对话中一些常见的场景内容。首先要能通过关键信息词（number, 

try to reach, dial）迅速推断出这是一个两人在通电话的场景，在此前提下，通过对话内容了解到

对话双方是在核实拨打的电话号码是否正确，而且从对话中可知已打错了。因此可知两人并不认

识对方，从而正确答案为 A项。  

17M: I heard you got full marks in the math exam. Congratulations! 

W: Thanks. I’m sure you also did a good job. 

Q: What is the probable relationship between the two speakers? 

答案为： C本题中的关键是 got full marks；you also did a good job。男士祝贺女士考了满分，女

士的回答是：我相信你一定也做得很好。由此看来两人都参加了考试。此外，对话的语气也会给

听者以暗示，双方彼此熟识，地位平等，因而正确答案是同学。陷阱提示:you also did a good job( “你

也做得很好”)，和 got full marks 有密切的联系，不能理解成“做好了工作”。 

18W: I always mistake Lindar for Judy. Can you tell them apart? 

M: No，they look so much alike that they even confused their mother sometimes when they were young. 

Q:What is the most probable relationship between Lindar and Judy? 

答案为： A这道题的独特之处在于它要考查的不是说话人之间的关系，而是在对话中所谈到的人

物的关系，这就要求考生首先要对简单的人名较为熟悉，听到时能迅速做出反应。此外，对于

mistake…for…，tell…apart 及 look alike 三个表达的应用要十分熟练，只有这样才能把对话内容与

twins 迅速联系起来得到正确答案。 

19M: Excuse me，Mrs. Hill. Can you lend me your ladder？My cat Mimi was playing in that tree and 

 11CET-4 Listening   

she got trapped. 

W: Just take it. It’s leaning against the wall in the back yard. 

Q: What’s the probable relationship between these two speakers? 

答案为： D男士的猫咪困在树上需要梯子，而对方的梯子就在后院，这种事最有可能发生在邻里

之间。本题中最为关键的词是 ladder“梯子”。考生还可借助下文出现的 leaning against the wall 进

一步核实、确定，从而避免误听作 letter，latter等近音词。 

20W: How about the carryout I ordered？I’ve been waiting for 20 minutes already. 

M: I’m very sorry，Lady. I’ll be right back with your order. 

Q: Who is the woman most probably speaking to? 

答案为： C 本题要求考生根据对话内容判断男士的职业。只要能把关键词 carryout 和 order 与饭

店、服务等概念联系起来就会准确找出正确答案，该男士是一位服务员。 

21W: Was I supposed to give the seminar presentation this week? 

M: Probably, it should be your turn. 

Q: What is the probable relationship between the two speakers? 

答案为：C 根据对话中的关键信息词 seminar，presentation（可排除 A、B 两项）和 it should be your 

turn（可排除 D选项）可知两人为同学关系。 

22M: If it’s all right with you, we want to move in tomorrow. 

W: No problem. I need two months rents in advance, plus an eight-hundred-dollar security deposit that 

you’ll get back when you move out.   

Q: What’s the probable relationship between the two speakers? 

答案为：C 对对话中 rent, deposit 的正确理解是答题的关键。“deposit”意思是“押金”。此外，

move in, move out 等信息词帮助考生进一步判断出人物关系是房东和房客关系。 

23M: Good afternoon，Professor David. My name is Sam David. I’m with the Chinese Medicine 

magazine. Do you mind spending a few minutes with me on the issue of SARS? 

W: Not at all. Go ahead，please. 

Q: What is Sam David? 

答案为：  C I’m with the Chinese Medicine magazine.这句话是本题的关键所在，一听到杂志报纸就

要考虑说话人是否是记者，然后根据谈话内容和选择答案进行进一步分析判断。 

误区提示ּ听这道题的时候，不要片面考虑 Professor，questions这两个词。通过分析这道题，希望
考生能吸取教训，听材料是把要点进行综合考虑，尽量避免草率下手。 

24W: This is the third time you’ve failed to provide the right data，Mr. Green. You’ll have to do better 

than that，or I am afraid I’ll have to let you go. 

M: It won’t happen again，I promise. 

Q: Who spoke to Mr. Green? 

答案为： A本组对话的关键词是 fail to provide the right data; do better; let you go。结合说话人的口

吻及使用的称谓可以推断女士是 Mr. Green 的上司。 

25M: Hello，this is Henry Conlon. May I speak to my wife，please? 

W: She’s showing a customer a new car that he ordered. Would you mind waiting a while? 

Q:What kind of work does Mrs. Conlon do? 

答案为：  B本题从 showing customer 可判推断 Mrs. Conlon 是一位销售人员，然后再根据 new car; 

ordered 进一步判断，答案较为明显。 

26W: Could you tell us if the natives find it hard to memorize all these German words? 

M: Not really. We build our vocabularies as naturally as you pick up your Chinese words.   

Q: What might be the man’s nationality? 
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答案为： C本题的关键词是 natives; German words； we。女士问男士本族人是否觉得记德语单

词难。男士回答是用了 we，说明他本人也是 native。 

27M: Excuse me, what kind of shoes are supposed to be used in the gym? 

W: The white shoes here. And they cost twenty-four dollars. 

Q: What is the probable relationship between the speakers? 

答案为：C 根据对话中第一个讲话人提到的体育馆中应穿什么样的鞋，以及第二个讲话人提到的

白色鞋的售价为二十四美元可排除干扰项（尤其是选项 B），可知两人为售货员和顾客，而不是教

练和学员的关系。 

28W: You should have stopped when we first signaled. 

M: I am sorry I didn’t notice it. Must I get a ticket? 

Q: What is the probable relationship between the man and woman? 

答案为： C从 stop，signal 来判断，事情发生在街道或公路上，然后从男士道歉和 get a ticket可

知他违反了交通规则。这种关系不难推断。  难点提示:give (get) a ticket 是警察为违规人员开具的

罚单。  

29M: Listen! Just stay where you are and put your hands on your heads. 

W: Hold on. The alarm system has already gone off. 

Q: What might be the man? 

答案为： B本对话要求通过一些专用术语对情景做出判断，如：alarm system （报警系统）和 go 

off (［闹钟，警报等］响起)。再加上男子命令人们原地不动、把手放在头顶上以及他的口气，从

而可解。 

30W: Welcome aboard，everybody. We are going to take off in three minutes. Please remain seated and 

fasten your seatbelts. 

M: Excuse me. Where’s the socket for this earphone？ 

Q: What is the woman? 

答案为： A 本对话提供了 aboard; take off; seatbelt三个词，说明事情发生在客机上；再听到男士

要求女士帮助找耳机插座，就可判断出女士是服务人员。  

否定、转折、比较类短对话 

1W: Are you going to have a holiday abroad this year? 

M: I’d like to. But I want to buy a car, and that’s going to take every penny I’ve got. 

Q: What do we know from the man’s reply? 

答案为：C 题目中，在女士问男士今年是否打算到国外休假后，男士先说“我很想去”。注意，这

样的表达其实常常暗示一个否定的含义，即“虽然愿意，（但是…）”。然后，男士说明因为自己打

算买车，所以需要省着花钱，也就是不打算到国外休假了。 

2W: I heard Susan has a job with a web company as an editor, hasn’t she? 

M: She once worked there, but no longer does. 

Q: What do we know about Susan according to the conversation? 

答案为：C 首先女士问 Susan 是不是在一家公司做编辑，并用了一个反问的句型。男士的对话虽

短，但包含了两个表示时间的的关键信息：  “once（曾经）”和“no longer（不再）”，即该句实

际是给出了一个否定的转折，她曾在那里工作，但是现在不在了。 

3M: How did your interview go, Lisa? 
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W: Oh, I could not feel worse about it! I was prepared for none of the questions asked and I saw utter 

disappointment in that man’s face. 

Q: What was the woman’s attitude about her interview? 

答案为：B对话中的关键句 I could not feel worse about it 表达了女士对面试的感觉：我感觉非常

糟糕（I feel the worst） 。选 A项和 D项  的考生可能是因为女士问答中的  prepared for none of the 

questions  和 utter disappointment 的迷惑。C 项则与题意相反。 

4W: What do you think of the final exam? 

M: I was expecting it to be easy，but I barely had time to get to the last question. 

Q: What does the man think of the final exam？ 

答案为： B本组对话中使用了含蓄否定副词 barely，男士本以为考试简单，却几乎没有时间做最

后一题，说明考试很难。选项中 D具有较强的干扰性，事实上最后一道题难易程度如何，说话人

并未专门提到。 

5W: Are you going to take mathematics next semester? 

M: No way! I’ve had enough science courses this term. 

Q: What does the man mean? 

答案为：D当女士在问男士下学期他是否打算上数学课时，男士首先给出了明确的否定，不会了，

并且进一步说明这学期已经上了足够的课，其实表达的正是选项 D的内容。 

6W: Would you like to go with me to a concert tonight? 

M: I’d love to，but my mother wants me to go to the airport to meet my cousin while she prepares 

dinner. 

Q: What is the man going to do tonight? 

答案为：  B I’d love to，but…句式常用来表示婉转的否定或拒绝。男士用这句话拒绝女士的去听

音乐会的邀请， but 后提供了理由，“母亲要我去机场接我表兄，她要在家准备晚餐”。 7M: Don’t eat 

too fast. It’s not good for you. 

W: OK, but the girls will be here any minute, and I don’t want to miss the game. 

Q: What will the girl probably do? 

答案为：A 对话中，女士通过使用 OK，but…句式，来委婉地表示自己不接受男士的建议，进而

表明自己的理由：女孩们随时就会来，我不想误了游戏。 

8W: The seminar is scheduled at seven o’clock tonight, isn’t it? 

M: It has been canceled but will be held later next week. 

Q: What does the man mean about the seminar? 

答案为：B 对话中女士首先问讨论会是否按计划在今晚 7 点进行，男士回答说今天取消了，但会

在下周晚些时候举行。其实 B 项正是对这一说法的同义表述（paraphrase）——讨论会推迟到下周

了。此题具有这类测试题的一定代表性，即第一个讲话人给出对话内容背景后，第二个讲话人给

予判断性的表述，而这一表述常常又可能含有转折性的说明，一般地，要在从整体上把握对话意

义的基础上，有所侧重地听表示转折的词（如 but 等）后的内容，这样可以有助于抓住重点。 

9M : You have to take great care handling the SARS patients or you will get infected. 

W: Thanks for reminding me. I will do that. 

Q: What does the man want the lady to do？ 

答案为： A 本对话中尽管男士用了转折句 or you will get infected，他的主要意图还是警告女士要

小心处理非典病人，而并非表示她将被感染。or 并列句起到了加强前面分句效果的作用。 

10W: You’ll love this apartment. It has two bedrooms，a big kitchen，a balcony，air-conditioning and a 

wonderful view! 

M: What a pity! I have a sleeping problem and it’s too near the highway. Otherwise，I would like to take 
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it. 

Q: What conclusion can you draw from the conversation？ 

答案为： D男士用 What a pity委婉地谢绝了女士的劝说，意思是他喜欢这套公寓，但客观条件

不允许。由 otherwise 开头的转折结构只起到了辅助作用，这是一种表示歉意的方式，而说话人的

本来意思是他不能住在这里。 

11M: Which do you think I should take as my second foreign language, French or German? 

W: Neither of them is easy to learn, it’s up to you to make the decision which one you’re more interested 

in. 

Q:What does the woman mean? 

答案为：C 对话中男士先讲出了谈话的内容，询问女士他自己该选择法语还是德语作为第二外语，

这就要求大家对学校的日常对话比较熟悉，这样对听懂“第二外语”这一表述将比较容易；然后

女士并没有告诉男士到底该选什么，而是向他说明了这两者都不好学，应该是他自己根据自己对

哪个更感兴趣来做决定。注意：neither这个否定词在句子中否定的对象，表示两种语言都不容易

学，而不是说两种语言都不该选。 

12W: It’s so hot today. This must be the hottest summer in years. 

M: It is certainly hotter than last summer. I was out in the sun today，and I think I’m 3 pounds lighter 

than I was this morning. 

Q: What does the man say about the weather？ 

答案为： A 本组对话中的关键信息是 the hottest summer，hotter than last summer，由此可见双方

都说今年夏天特别热。根据对话中的比较级结构可排除选项中 today后的最高级形式。 

陷阱提示:选项D中的brighter与对话中的lighter在此处不同义，对话中是指体重的减轻。 13M: The 

way that boy behaves! Disgusting，that’s what I call it. 

W: It could hardly be more disgusting. 

Q: What does the woman say about the way the boy behaves？ 

答案为： D本组对话中出现的比较结构是 hardly be more disgusting，英文中否定词与比较级连用

表示最高级而不表示否定意思，意为“不能再令人讨厌了”，因此此处句子的意思相当于 It is the 

most disgusting。 

14W: I cannot remember the due date to hand in our assignment. 

M: It’s next Friday. But you’d better not wait until the last minute. 

Q: What does the man suggest? 

答案为：D 对于这类题，考生要特别注意讲话人在 but 这样的转折词后所表述的意思，可知第二

个讲话人建议第一个讲话人“最好不要…”（即关键词组 you’d better not）。可以看出选项 D为该

句的同义转述。 

15M: Your new apartment is no more convenient than the first one had been. 

W: Exactly，but it’s far more comfortable and above all it has a quiet surrounding. 

Q: What does the woman think of the old apartment？ 

答案为： D本组对话中使用的比较结构有 no more…than“与…一样不”和 far more“多得多”，

above all“首先”体现的也是比较关系；关键词有 convenient，comfortable，quiet surrounding。男

士认为新房子和旧房子一样不够便利，女士用 exactly来回答表示同意，但又说新房子比旧房子要

舒适得多，最重要的是有一个安静的环境；注意提问对象是 the old apartment。 

16W: Why didn’t you go to see the doctor last week when you first hurt your ankle? 

M: The injury didn’t seem serious then. I decided to go today because my foot still hurts when I put my 

weight on it. 

Q: Why didn’t the man see the doctor earlier？ 
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答案为： C这组对话中的否定是以一般的否定形式出现的，很容易明白，只要考生能抓住真正的

原因在于 The injury didn’t seem serious then，就可以做出正确选择。 

陷阱提示ּ选项 B，D中分别出现了 too…to，failed 两个干扰项，是含有否定意义的词和词组。 

17M: Would you like to have a copy of Professor Smith’s papers? 

W: Thanks，if it’s not too much trouble. 

Q: What does the woman imply? 

答案为： C 本组对话中，难点在于女方的答话没有直接给出 Yes 或 No，而是通过委婉的形式体

现出接受之意，if it’s not too much trouble 形式上虽然是否定的，但实际含义却是： I would，if it’s 

not too much trouble.这样就要求考生不仅要听到有否定词包含其中，更要听懂这样的否定形式实

际表达肯定之意。 

18W: What are your comments on these plays put on by the freshmen，Dr. Hoffman? 

M: You certainly have made a great deal of efforts. But frankly，both are not very successful. 

Q: How does the man feel about the plays? 

答案为： B对话中词组 both are not 是部分否定形式，意思是“不是两个都…”。男士要说的是两

个剧目中有一个成功而另一个不成功。 

误区提示ּ中国学生碰到部分否定结构时往往容易出错，常把 both are not 理解为“两个都不” 。类
似的还有 all，every，many，always 等与 not 构成否定结构，意思是“不是全都、并非每个”等。  

19M: Did Jack find the tape he borrowed from Paul，Granny? 

W: He looked everywhere for it，but in the end he had to go to the party without it. 

Q: What do we learn from the conversation? 

答案为： A 针对男士的问话，女士没有使用含有否定词的一般否定句来回答，她使用的是含蓄否

定词 without 来表示否定之意：最终也没有找到那盒磁带。本题所给出的选项中也没有一般否定

句的出现，这就要求考生对含蓄否定词比较敏感，能迅速确认。选项 A 中的 missing 同样含蓄表

达了否定之意。 

20W: I’d like to buy a copy of Professor Franklin’s book “On Sea Shells”. 

M: I’m sorry，Miss，that book has been out of print for some time now. 

Q: What does the man say about the book? 

答案为： B本题考查学生对否定表达的掌握程度。对话中，男子使用的是含蓄否定词 out of print，

表示“绝版”，即：现在买不到了。考生对 out of print，available，out of date 的理解掌握程度是答

好这道题的关键。 

21M: Did you visit the Television Tower when you had your vacation in Shanghai last summer? 

W: I couldn’t make it last June. But I finally visited it two months later. I plan to visit it again sometime 

next year. 

Q: What do we learn about the woman? 

答案为：  C. but 提示我们，更重要的信息是“两个月后我终于参观了电视塔”。 (I finally visited it two 

months later.)另外，本题中应注意三个时间 last June，two months later，sometime next year的对比

关系及其相应的细节内容，考生经过综合判断可知正确答案。 

22W: It’s going to be a sunny day tomorrow. I’d like to go to see the Great Wall. 

M: Fine, but we have to leave very early or we’ll get caught in the traffic. 

Q: What is the man most concerned about? 

答案为：B 该题中第一个讲话人所述内容（明天天气很好，打算去看长城）与问题答案关系不大，

相反却具有相当的干扰性（选项 C）。在对话中出现 but 等表示转折的词后的内容要格外注意听清。

此对话中第二个讲话人在 but 后有两处信息可以帮助解题，一处为“要很早出发”，另一处为“否

则可能会堵车”。 
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23M: Mary，would you like to help with the laundry while I clear up the house? 

W: Well，I have to finish some written work before bedtime. Anyhow I’ll manage to find time for that. 

Q: What can we conclude from this conversation? 

答案为： A 本题的关键是副词 anyhow，其实它的作用是实现了与前面句子的转折。男士请女士

帮忙洗衣服，女士说她有作业要做;  但随后又说她会抽时间去干那件事。 

陷阱提示ּ女士的头一句话很可能使人以为她拒绝帮忙。注意不要一听到这句话就匆忙下结论，耐
心听完，后面的补充常常推翻前面的推断。 

24W: Harry，would you like to go to the movies with me after dinner? 

M: Well，I’ll go if you really want me to，but I’m rather tired. 

Q: What can we conclude from this conversation? 

答案为： C Well，I’ll go if you really want me to，but I’m rather tired.这个句子意思是“如果你的确

想让我去，我会去的，但我真的太累了。”本题最大的陷阱在选项 B 上，对前面话语稍加分析可

知，该男士并没有累到不能去的程度，他这样说只是想提供自己不想去的理由。 25M: If you help me 

with this work，I can have it done in about twenty minutes. 

W: I would，but Mr. Mark told me to type these letters before I go back. 

Q: What is the woman going to do? 

答案为： A 对话中 I would，but…句式用于委婉地拒绝男士的提议，but 后面的内容给出拒绝的

理由，也正是问题的答案，关键信息:type these letters。 

26W: Mr. Johns，your student Bill shows great enthusiasm for musical instruments. 

M: I only wish he shows half as much for his English lessons. 

Q: What do we learn from the conversation about Bill? 

答案为： D本题解答中要抓住如下几方面，一是比较结构 half as much；二是比较对象，分别为

enthusiasm for musical instruments和 enthusiasm for his English lessons；三是比较关系，希望他对英

语的热情有他对乐器热情的一半。经过逻辑推理可知 Bill 对英语学习热情不足。 

27M: Which of the two do you think is better? I mean, what’s the difference between them? 

W: Well…this one costs more, but it is made of pure silk. The other one is good for the money. It’s much 

cheaper, but not pure silk. 

Q: What are the speakers doing? 

答案为：D 该场景对话中的主要信息都在第二个讲话人所说的内容中，这也是听力考试中常见的

测试点所在。但听好第一个讲话人的内容有助于帮助理解和预测对方的讲话，所以要注意整体和

重点的结合。对话中，男士在询问哪一个更好，并换了一种问法，问两者的区别是什么。这时听

的重点应该是：1.他在问的东西是什么方面的；2.两件物品间区别在哪里。这样不论问题是什么，

都可以迎刃而解了。女士的回答是两者的价格差别，并分别对其价格的差别给出了解释（贵的理

由和便宜的原因）。 

28W: Do you have the paperback edition of this dictionary? 

M: Yes，we do. But the hardback is on sale for the same price as the paperback. 

Q: What does the man say about the dictionary? 

答案为： B对话使用的比较形式是 the same…as，比较对象是 the price of the hardback和 the price 

of the paperback，结论是价格相同。 

29M: I think it’s high time we turned our attention to the danger of drunk driving now. 

W: I can’t agree with you more. You see，countless innocent people are killed by drunk drivers each 

year. 

Q: What does the woman mean? 

答案为： B会话中女士在陈述观点时使用的是看似否定实为肯定的表达方式：I can’t agree with 
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you better.意为：I completely agree with you.我完全同意你的观点。这样考生可迅速排除选项 D。

经过对 countless innocent people are killed by drunk drivers表达的分析可知，许多无辜的人死于酒

醉司机车下，可排除选项 A，C。 

30W: I could hardly hear what Professor Smith said at the back of the classroom. 

M: Actually there’s nothing worth hearing. I would rather read books after class than listen to his 

lectures. 

Q: What does the man think of Professor Smith’s lectures? 

答案为： C本组对话中的关键词有 nothing worth hearing，结构有 would rather…than，比较对象

是 read books after class 和 listen to his lectures，男士认为听课不如课后读书有收获。 

